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Topic:- General Knowledge

1) Name the voice behind the audio book “Wings of Fire’ written by the former President A.P.J Abdul Kalam. /

ud yufa TS srsge wam gRT fifa s geas T sife vrre A geayfiy iR & 18 smars &19m
CLIEY|

1. Girish Karnad / IR ®4f8

2. Om Puri / 319 gﬁ

3. Amitabh Bachchan / 3Ty sea
4. Amrish Puri / 3RS @

Correct Answer :-

o Girish Karnad / RRI=T & S

2) Name the Indian who was the co-recipient of the Nobel Peace Prize along with an activist from Pakistan in
2014./

2014 T UTfHa™ & TP SRIGAl & A1Y Nad ifd RIPR & Tg-UTaddi g4 arel R BT 419 Fang |
1. Malala Yousafzai / Hellell W"&c

2. Medha Patkar / HYT UTedhR

3. Anna Hazare / 3{[ B\_ﬂﬁ

4. Kailash Satyarthi / 21 gt

Correct Answer :-

« Kailash Satyarthi / =1 gt

3) Who among the following Indian Architects was named as ‘India’s Greatest Architect’ by the Royal Institute of
British Architects? /

fFr=rfafed 4 9 fra URA ageR &1 Iaa X tege 3t fafew snfheeca & gr1 "URd & qad

G IRGHR' FT ol T T4

1. M. Visvesvaraya / Qﬁﬁ’g%ﬁtﬂ

2. Achyut Kanvinde / 3&d DG
3. Prem Nath / O 1Y

4. Charles Correa / e DI

Correct Answer :-



« Charles Correa / e DIl

4) Who among the following started the famous Madhav Music School in Madhya Pradesh in 1918? /
AR | URIE ATYT Hitd Wpd 1918 § fuferfaa # & fvads g1 7= fosar mar am?

1. Vishnu Narayan Bhatkhande / ﬁ'q AR UTad S

2. Ustad Ali Akbar Khan / S&ITG 37ell 3fehaR @M

3. Ustad Alauddin Khan / 3TG 3fQTSE M @M

4. Krishnarao Shankar Pandit / PRI b3 Uf&d

Correct Answer :-

« Vishnu Narayan Bhatkhande / ﬁ'ml AR YT S

5) Who among the following was born in Bilaspur of erstwhile Madhya Bharat and became a legend in Hindi and
Marathi theatres? /

frafafea & 9 919 yagd 7w URd & foaagR # Uer 3T ¥ 3R Fd vd widt vvia 4 wo e s ™ 3
1. Satyadev Dubey / IS4 ga

2. Dev Ananad / G 3{Fig

3. Habib Tanwar / 881§ ok

4. Gulzar / T[eToIR

Correct Answer :-

« Satyadev Dubey / W@

6) Lal Bahadur Shastri Institute of Public Administration established by Government of Madhya Pradesh in 1966
was renamed as /

1966 H WA IR GRT I AT TETGR ATA AP YT TRIT BT ATH TGADY o fear
T

1. Atal Bihari Vajpayee Institute of Good Governance and Policy Analysis /
3ree fogr) arers R o ey famaror Jwum

2. Madhya Pradesh Academy of Public Administration /
HE TG Tfich TR 3fepTeH!

3. R.C.V.P.Noronha Academy of Administration and Management /
SR A . TRIT IR T Yew/ab1 SfebIgH!

4. Ravishankar Shukla Academy of Public Administration /
fIRIHR Yo SHDTGH! 3T ufediar TSHfReTH

Correct Answer :-

« R.C.V.P.Noronha Academy of Administration and Management /

SR Gt At i}, TRIeT U= Ud USRI 3fhTeHT



7) ‘Maximum City’, a non-fiction book by Suketu Mehta was based on which Indian city? /

g Aedl gRT fafad A7-fraer qwae -AfRm Rd g yrdia 2rer w smurfva 4
1. Bengaluru / aTlTjRT
2. Delhi / fewett

3. Mumbai / TS
4. Kerala / %d

Correct Answer :-

« Mumbai / H@é

8) ‘Ramnath Goenka Award’ is presented for which field of excellence?/
IMATY MYhT REPR’ f5T &7 & Icptear & fore faar wimar 82

1. Agriculture / ?ﬁf

2. Science / AR

3. Technology / CiEHl

4. Journalism / GABTRGT

Correct Answer :-

« Journalism / TSBTRAT

9) Padma Vibhushan Ustad Allauddin Khan, the great musician of Madhya Pradesh, is settled in ./
A YR & HgH SMaeR U1 faywor 3«ig samsy @ H 99 Ul

1. Chanderi / Ta!

2. Katni / He-

3. Maihar / 'aET

4. Mandu / I|'|_§'

Correct Answer :-

o Maihar/ ﬁ%?

10) What is the percentage of unexploited geographical area in Madhya Pradesh endowed with rare and valuable
herbs and medicinal plants? /

j@ﬁmmmmmw%ﬁﬁumwﬂa@qﬁﬁaﬁ?eﬁmﬂuﬁﬁﬁ
A B2

1.20% to 25% / 20% H 25%

2. 26% to 30%/ 26% I 30%

3. Less than 20% / 20% ¥ &H

4. More than 30% / 30% ¥ 3{fd

Correct Answer :-

« More than 30% / 30% & 31l



11) Rashtriya Swayamsevak Sangh was founded in 1925 by: /
1925 & APTI WAATP Y & HRITS P A2

1. Mahatma Gandhi / HelHT ey

2. V.D. Savarkar / dta] A&

3. Lokmanya Bal Gangadhar Tilak / AP a1 TR fadid
4. K.B. Hedgewar / &, &, %Sﬁaﬂ

Correct Answer :-

« K.B. Hedgewar / &, &, %?{ﬁaﬂ

12) Name the interior designer who has designed the interiors of India’s luxury train - ‘The Palace on Wheels and
The Royal Orient’. /

I EANR fEugR &1 7 7a¢. 61 YR 3 Ha@ doer 39 'S U9 34 e s ¢ Jaa e
& Safvd UN fearsA fBa 1

1. Anjum Jung / \’JW{P-TTIPT
2. Rajiv Saini / Jrsid It
3. Twinkle Khanna / EW REL||
4. Monica Khanna / Ff-ehT G+

Correct Answer :-

« Monica Khanna / AT =TT

13) Lokranjan, a national festival held in Khajuraho every year, relates to which one of the following fields? /

Wﬁmaﬁ'ﬁﬁm?ww@uwmﬁaﬁm%ﬁmmﬁwﬁaﬁ@aﬁﬁmmu

1. Classical dance / QIR ]

2. Classical music / g Tt

3. Folk dance and arts / @b Jd 3R et
4. Hindi films / 8= fled

Correct Answer :-

« Folk dance and arts / @IdH ] 3R e

14) Bharam, Setam, Saila and Ahirai are the traditional dance forms of which of the following tribes of Madhya Pradesh? /

U, T, T SR 3ifeRTs weaves ot fFafifEa # & few saenfa 3t urRuie T Aferai 2
1. Bharia / HTRAT

2. Gond / g

3. Bhil / /il

4. Baiga / ST



Correct Answer :-

« Bharia / HTRAT

15) Dr. Vishnu Shridhar Wakankar from Madhya Pradesh is related to which one of the following fields? /
ALY & ST, fwy fieR e Fufafaq 3 | frg &7 @ TaftE €1

1. Archeology / YRId™d

2. Social service / JHTST aT

3. Anthropology / HI-d-RIId

4. Atomic energy / UXHIU[ Bl

Correct Answer :-

+ Archeology / YRIdwd

16) The folk song called ‘Dhola Maru’ in some parts of Madhya Pradesh finds its origin from which of the
following states of India? /

A & FO 7T A a1 AR AT A i 1 @iy Fafafaa 3 3 fpa =g @ g8
1. Uttar Pradesh / S@R Ul
2. Maharashtra / HEIRTSG

3. Rajasthan / ISR
4. Gujrat / J[oIRId

Correct Answer :-

« Rajasthan / TSI

Topic:- General Hindi

1) 3R P g Tt vataarh arat et @1 dfda &1 g
1. 3T, JHTAT, HTATH

2. B, JHTEAT, WA

3. 9y, THTE, W

4. U, SITEIRT, YT

Correct Answer :-

o TY, SATIRT, W

2) 3 § et ST - garar &1 3 g e A A P AT e
1. e A

2. Sgd g™ gl

3. G T

4. Y& Uhe gl ol



Correct Answer :-

3) BT Fd U HIHA T g5 T D1 38| - B A A | B 91 v R 82
1. SUHT 3ADR

2. SUSIIRAIGT SHADR

3. Y1 3ABR

4, IR ABR

Correct Answer :-

. JUHAT DR

4) ¥y - & fere w8t 3fY fasde &1 gl
1. W—'H?—ﬁﬁf

2. AN

3. JHEHART

4, FH+AN

Correct Answer :-

. gAY

5) HHAY - PTYZ U AH A AP ATS?
1. Qe

2. ghay

3. el

4. gbeq

Correct Answer :-

6) ISR - & forg wet i fawse =1 gfal
1. 3%+eR
2. 3&+BR
3. 3&+8R
4, 3q+BR

Correct Answer :-

7) A GHUIR 1Y 99 SN | gfE S au Mg Wi - A g o & &9 31 SR 87



1. ¥UH AADBR
2. TohIfad SABR
3. U 3(TDR
4. TV ADBR

Correct Answer :-

. TopIfad SADR

8) SifYf - Suwi AT T P A A BT A B2
1. 3T

2. 3T

3. AT

4, W™

Correct Answer :-

o YN

9) 3ifaw ug} 3T - geTak &1 f P Al A A S AT 32
1. T B R R UG

2. 3§ gHS T

3. g e SiTT

4. FARER B

Correct Answer :-

. g e o

10) ‘FgRegew AT A AP ATINN R 2
1. dgsiife THN™

2. g IAN

3. HHYRY TAN

4. AT TH™

Correct Answer :-

11) AR Th g W A A @ I e d s
1. ST
2. 3T
3. 3T
4. 3OATSd



Correct Answer :-

12) TA-GHAT ® A9 7 Q $49 9190 82
1. 9gsife Ja™

2. fgy gum g

3. 4g 9AN

4. 3TYHTT TH

Correct Answer :-

. GG gAY

13) fp STt AT T FE A A B ATR?
1. TART=T

2. Fsheid

3. T

4. FA%SH

Correct Answer :-

14) T & 31fF HTeT Bt ULUR FOR HI § DI |

WS & gEIa ST U B gl 8 3fre) ST e | - A P A AP AR 2
1. T

2. %™

3. 4R

4. YOS T

Correct Answer :-

. A5

Topic:- General English

1) Spot the error in the given sentence:

When she stood first in her class, she was the happier girl in our neighbourhood.
1. in our neighbourhood.

2. first in her class

3. When she stood

4. she was the happier girl



Correct Answer :-
« she was the happier girl
2) Choose the correct form of clause for the given sentence:

The sailors waited

1. until the storm had passed

2. when the storm will pass

3. after the storm has passed

4. that the storm to pass

Correct Answer :-

« until the storm had passed

3) Choose the correct form of tense for the given sentence:
My father _ every morning in the fresh air.
1. walks

2. was walking

3. has been walking

4, will walk

Correct Answer :-

« walks

4) Choose appropriate articles for the given sentence:

In ___ market, I found ___ beggar in tattered clothes, lying on ____ roadside.
1. the, an, the

2. the, a, the

3. an, the, the

4. an, the, a

Correct Answer :-

« the, a, the

5) Choose the appropriate conjunctions for the given sentence:

She was taken to the doctor at once; __ her condition worsened _____ she was hospitalized.
1. whether, if

2. but, though

3. then, if

4. however, and



Correct Answer :-

« however, and

6) Choose the appropriate form of the verb that agrees with the subject in the given sentence.
Neither food nor water ____ to be found there.

1. are

2. have

3. be

4. was

Correct Answer :-

7) Choose the best option that is appropriate to fill in the blanks in the given sentence:

His and nature has won him many long lasting friends.

1. humane, benevolence
2. humane, benevolent
3. human, benevolence

4. humanity, benevolent

Correct Answer :-

« humane, benevolent

8) Choose the option that best transforms the sentence into its other voice:
The prisoner wrote a letter to his wife every week.

1. A letter was being written by the prisoner to his wife every week.

2. A letter was written by the prisoner to his wife every week.

3. A letter had been written by the prisoner to his wife every week.

4. Letters were written by the prisoner to his wife every week.

Correct Answer :-

o A letter was written by the prisoner to his wife every week.

9) Choose the option that best transforms the sentence into its other voice:
Why have you not visited your sister in the hospital?

1. Why was your sister in the hospital had not been visited by you?

2. Why is your sister in hospital not being visited?

3. Why is your sister in the hospital not visited by you?

4. Your sister in the hospital is not being visited by you why?



Correct Answer :-
» Why is your sister in the hospital not visited by you?
10) Choose the appropriate prepositions for the given sentence:

Polio is a disease caused a virus that invades the nervous system droplet infection and can
cause paralysis two hours.

1. on, about, from

2. on, with, near

3. at, near, about

4. by, through, in

Correct Answer :-

« by, through, in

11) Choose the option that correctly spells the words to be filled in the given sentence:

During the world tour, my friend enjoyed visiting and

1. Seatle, Edinbugh
2. Siattle, Edinburg
3. Seattle, Edinborough

4. Seattle, Edinburgh

Correct Answer :-

« Seattle, Edinburgh

12) Choose the option that best fills in the sentence:

My salary is high but yours is higher. My salary isn’t

1. as high as yours

2. high like you

3. high like yours

4. more higher than you

Correct Answer :-

« as high as yours

13) Choose the option that is closest in meaning to the highlighted word in the given sentence:
You need to understand the different categories of the equipment and know what they can do for you.
1. suit

2. outfit

3. tools



4. stuff

Correct Answer :-

« tools

14) Choose the correct adjective phrase for the given sentence:
The Mother Teresa Foundation is raising money for children

1. deformed with birth defects

2. deform with birth defected

3. deform with birth defects

4. deforming with birth defects

Correct Answer :-

« deformed with birth defects

Topic:- General Mathematics

1) Your birthday may fall on any day of the week. What is the probability that it falls on a Sunday? /
ATYHT TS TwTg & fredt off i3 s Favar 31 509 a1 Wildewan g i 9 o ¥JaR &t ug?

1.1

w
B | =

4 6

Correct Answer :-

2) The adjacent sides of a parallelogram ABCD measures 34 cm and 20 cm, and the diagonal AC measures 42 cm.
The area of the parallelogramis__ ./

TH AR 94U ABCD B SIRTH YATY 34 A} a1 20 Tt §, 941 faswof Ac 42 I B | wumiaR aqfe
T ABA B

1 386 cm? / 386 THP
5 276 cm? / 276 HHR
3, 672 cm? [ 672 [HE
4 1344 em? [ 1344 2

Correct Answer :-



. 672cm? / 672 THE

3) The mid value of the class interval is 42 and class size is 10. The lower and upper limit is: /
TP T RIS BT A T4 42 3 T4 I &7 PR 10 71 F51 Td 3= W 8:

1.37-47

2.36-47

3.36.5-46.5

4.36.5-47.5

Correct Answer :-

o 37-47

4) The diameter of the driving wheel of a bus is 140 cm. How many revolutions per minute must the wheel make
in order to keep a speed of 66 km/hr. /

TP 99 P SIS ufdd &1 AT 140 A B 1 66 frfl/eieT Y ara &) 991¢ W= & fore ufgay ) wfa firme
fora=t ufverHYr 3 Smazg®ar g2

1. 250
2.2500
3.25
4,200

Correct Answer :-

« 250

5) The point of the form (a, a) where a # 0 lies on Y
(a, a) TU AT fig, Wefa 70, WIR@EEaT el
1. thelinex+y=0/mx+y=0

2. the linex:y/WTx:y

3. x-axis / x-3{&

4. y-axis / y-3{&

Correct Answer :-

. thelinex=y/i“\§Tx=y

6) If AABC and ABDE are two equilateral triangles such that D is the midpoint of BC, then area
(AABC ) : area (ABDE )is: /

?J'%QABCUE;&BDEETW@%E;HEHW%%BCWH‘E‘I@_QDEL, ad
(AABC ) &T &%l - (ABDE ) & aTa%hd Toe T ¢

1.2:1

2.4:1



3.3:1

4.5:1

Correct Answer :-

7) o i b .
The multiplicative inverse of 2 = is the additive inverse of a number. The number is: /

zgwwmwémemﬁlmm?:

=]

4.

Correct Answer :-
-8
. 23

8) Ifaclosed metallic conical tank is 4 m deep and its circular top has diameter 6 m, then the area
of the metallic sheet required to make the tank is (take m=3.14): [

afe earg &1 U &g AR S 4 AT R § 9 s0S geaer o & s 6 A
g, df & et A 9 g T T F aFG § (m=3.14 Q)

1. 7536m? / 7536 HY
5 47.1m? [ 47.1 #H?
;. 583m? / 583 AP
4 62.12m? [ 62.12 #2

Correct Answer :-

75.36m? [ 7536 HI2

9) (101x72) =?
1. 52881984
2. 59924888
3. 58824999

4. 59291896

Correct Answer :-



» 52881984

10) The degree of the polynomial (2x - 1)(2x + 1)(4x? + 1)(16x* + 1) in its standard form is: /
39S Ao §9 F @gUe (2x - D2x+ D + 1)(16x*+ 1) ar f3alr &

1. 16

2.8

3.6

4. 10

Correct Answer :-

11) Shilpa placed 76 candles in a row to decorate her garden during a festival. The distance between

two adjacent candles is im then the distance between the first and the last candle is: /
fiear o T OBR & SR 319 99l & 99w & fov e ofdg & 76 Awefcaar
T & e Awecadt & dia A gl Zafex o oo W S Awed &
e gl &

1.19 m/ 19 HiX

215 m / 215 FR

205 m / 20> HeX

13§m / 13%#13?

4.

Correct Answer :-

1s§m / 1333#13?

12) Simplify: 215-[144 = (12x 1) +(-8)-{2-T2=7 }] /
A S 215-[144 = (122 12)+(-8)-{2-T2—=7 }]

1.219

2.199

3.205

4.243

Correct Answer :-

« 219



Y729
7 in its simplified form is: /
g

Y729
75 P WP T &

1.7
2.3
3. 11

4.9

Correct Answer :-

14) ABCDisa square and E is a point inside square such that CDE forms an equilateral triangle,
then £AED s [
ABCD U il § dum Eadt & #fick o g $9 WK ¢ T CDE vs wrerg e
&7 AT awa §.ar2AED= _ |

1. 45°

2. 60°

3. 15°

4, 90°

Correct Answer :-

Topic:- General Logical Ability

&5
If selling price of an article is 3 of its cost price, then the profit in the transaction is T

[ by 5 o
afe T avg &1 awy A7a, 58 R Jeg & 7 . ar su dig & amr 21

1. 24%
2.25%
3.30%

4.26%

Correct Answer :-
e 25%

2) The present ages of Pratap and Akhilesh are in the ratio of 6:7 respectively. After 6 years, their ages will be in the
ratio of 15:17 respectively. What is Akhilesh’s present age? /

WY 3NY ST B T SR SHURM: 6:7 F JUTA W 8 | 6 TUT P TG, IAD! MY HH: 15:17 &b T H
it srfarer=r Y adur sy = 82



1. 23 years/ 23 EL
2.28 years / 28 CL
3.25years /25 ¥
4. 30 years/303'5f

Correct Answer :-

e 28vyears/28 ¥

3) X, Y and Z can separately do a work in 12, 15 and 20 days respectively. They started to work together but Z left
after 2 days. In how many days will the remaining work be completed by X and Y? /

X, Y Ud Z 3[THT-3e TP BTd &1 HHR: 12, 15 3N 20 &) A % 9 d &1 3211 TP 1Y 1 H71 IR= foba
AP 2 7 2 a1 & a1g S =11 B a1 X v Y & gR1 Ay w1 fova &1 & @1 81 stmgeme

1.2days/2ﬁ_'f
2.4days/4ﬁ:f
3.5days/5ﬁ:f
4.3days/3ﬁ:f

Correct Answer :-

. 4days/4feT

4) A box contains 5 yellow, 4 green and 3 white marbles. If 3 marbles are drawn at random, then what is the
probability that they are not of the same colour? /

T g § 5 A, 4 B¥ 3R 3 Tbe TR 21 afe 3 TRR grefese Fu A fAer o § S s uiRiearg fF a
T 3T S T8 82

Correct Answer :-

o
. 44

5) A gold smith has two qualities of gold, one of 13 carats and another of 17 carats. In what proportion should he
mix both to make amount of 16 carats purity? /

TP GR & U 1 UBR PT AT 8, TH 13 BIC BT 3R TH 37 17 HRe BT 16 e ST aAm GRHT0T yed
P & g 3 a1 o1 ford srgura | i Tk

1.2:1

2.3:2



3.1:3
4.1:2

Correct Answer :-

« 13

6) If X, Y, Z, P and S are five consecutive odd numbers, then their average is: /
gfe X, Y, z, P T4 S @GR U fauy ey €, o) S-1a1 ohd &:

1. 4(X+5)

2. (X+4)

3. 5(X+4)

XYZPS
4. 3

Correct Answer :-

7) A train takes 10 seconds to pass a pole and 200 meter platform in 20 seconds. Find the length of the train. /
TSP o1 &1 TP U UR HIA | 10 AHS 3N 200 HIe? WeHhTH &) IR 31 A 20 Ybs @A 8 | ¢ B dars
T |

1.190m / 190 |t

2.200m / 200 HY

3.210m /210 HY

4.220m /220 |

Correct Answer :-

« 200m /200 Ht

8) In how many different ways can the letters of the word ‘BANKING’ be arranged? /

'"BANKING' }Teg & 3H&RI B fpaq fird a8ie & suafRua far o aear g2
1. 2550
2.2540
3. 2530
4.2520

Correct Answer :-

« 2520

9) Study the following information carefully and answer the question given below:

M, N, P, Q, R, S and T are sitting around a circle facing the centre. P is second to the left of S and third to the right
of M. T is third to the left of S. Q is not an immediate neighbour of S. N is not an immediate neighbour of M.

Who is sitting between R and N? /



Frafaiad SeR @1 eryde ue ok R e 1T uy &1 3w 3

M, N, P,Q,R, S 3R T TP I & H% B! 3R g HIPb ARIUTH IS §U S| P, S b T3 3R gORT AR M & &5
AR TIRT B S F 918 3R TR T 81 Q, S FT AP USRI T8I 81 N, M &7 Afhe USRI 981 81
RUGNF ST AP IBT®?

1. T
2. M
3.P
4. S

Correct Answer :-

S

10) The ratio of male and female workers in a factory is 7:5 respectively. If there are 105 male workers, then find
the number of female workers in the factory? /

TP PRTM W 3 3N Afar 4fired) &1 srgura wa=n: 7:5 31 4fS 105 790 44w §, 9 dr@™ # afgan
YD B BT 1 B2

1. 95

2.65

3.75

4. 85

Correct Answer :-

11) In a certain code, TOLD is written as 5132 and DEAR is written as 2648. How is LATE written in that code? /

TP FAf3a He ® TOLD &1 5132 F FU H a1 7471 8 3R DEAR F1 2648 F U A for@ mar g1 S die A
LATE &1 &9 fer@r smemm?

1. 3871
2. 3456
3.3652

4. 6853

Correct Answer :-

» 3456

12) In an election between two candidates, 75% of the voters cast their votes, out of which 2% of the voters were
declared invalid. A candidate got 18522 votes which were 75% of the total valid votes. Find the total number of
votes enrolled in the election? /

3 Suiiear) & = gA1a #, 75% Adearail 7 3q die STa, R @ 29 Aaerarsit s srdy wifda w3 faar
gl s SWIGaR B 18522 die i oY a1 Ay dtel § A 75% A1 gATG § AP diel $t o I=m g4

1. 33200

2.33600



3. 33400

4. 33800

Correct Answer :-

« 33600

13) CANCELLED

In the given question a group of letters is to be coded bv number/symbol codes as per the codes
gives below and the condition that follows.
In the question, a group of letters is given followed by groups of number/symbol code numbered

(a). (b). (c) and (d).
Letter P D A F T H M TR 1K 1T B £ T

Code 3 6 # 8 S 4 2 7 @ |9 5 1 %

ey

Condition: If the first letter 1s a vowel and the last letter is a consonant, both are to be coded as 0.

What is code for EDRTMP’? /

fgu aw gear & A o aw FI5 IR FFagaR § 7 ad & AR HERT & Th
THE $ GEATdE $I5 @RI Hifsd HAT AT

wesT &, (a). (). (©) AR (d) carT gHa deanydis #Is & HaR & GHAg & G

fe=r am=r 1
s |P |D |A |[F |[L [H [M[R [K [T [B |[E |[U

FE 3 6 # 8 s 4 2 7 @ |9 3 1 %

‘EDRTMP & foT &5 &= 27

1. 167932
2. 169721
3. 067920

4, 067923

Correct Answer :-

« 067920

14) Ifthe position of the 1% digit and the 3 digit in each of the numbers is interchanged, then which

of the following will be the lowest number after the rearrangement?

518, 725. 849, 387. 634 /
I gde & A Jed 3iF 3R dey e Y g sroa F s & adr .ar 59

Idcdaea & alg feefaf@d # & $la Sraas wear gen?
518,725, 849, 387, 634

1. 634

2. 387

3.518

4,725

Correct Answer :-



Topic:- General Science

1) A boy receives his echo in 6 seconds. Find the distance of the reflecting surface from the boy. (The speed of sound
in air =342m/s) /

Wﬁﬁﬁﬁﬁﬁ6mﬁmﬁélmﬁmﬁ%aﬁﬁmml @1 ¥ @afy Ftama
=342

1.28.5m/28.5 |l
2.1026 m/ 1026 |
3.67m/67 4
4.2052 m /2052 1t

Correct Answer :-

.« 1026 m/ 1026 |

2) At the top of the mountain, cooking of food takes a lot of time because: /

Tdd & RRER W, WieH UM # 18! §HY T 3, F1fP:

1. Pressure is more at the top of the mountain /W%WWE{W N%EPI?IT%I

2. Boiling point of water is more at the top of the mountain / Tdd & RRER W Ul &1 YIS Gﬁ%@?ﬂ%l
3. Boiling point of water is less at the top of the mountain /W%WWMW?WW@W%I

4. Melting point of water is less at the top of the mountain /W%WWU’F‘){WWW@W%I

Correct Answer :-

« Boiling point of water is less at the top of the mountain / Udd & fRRR Wqﬁﬁﬁmmaﬂ%l

3) Why is it important that the seeds get dispersed? /

il &1 fareR-faeR g Tecayel & gt 22

1. All the seeds will germinate / YT afteT %F\’?Taﬁl

2. Germinate fast / ol ¥ HW@?IT%I

3. Prevents overcrowding around the parent plant / ﬂﬁﬁﬂ%ﬂﬁ 3R ﬁmﬁm%l
4, Seeds get damaged / &t &fﬁWEﬁ\_XIﬁ%I

Correct Answer :-

« Prevents overcrowding around the parent plant / qaﬁﬁ%aﬁr 3R Mﬁrwﬁﬁw%l

4) Identify the charge on the cation in the salt aluminium phosphate. /
AU THIFIH Wivbe § Y9I U (TR 1 Ugdr i |
1.+3

2.+1



3.+2
4.0

Correct Answer :-

¢ +3

5) Which of the following methods is most widely used in the determination of age of organic matter in the
archaeology field? /

RTad &7 A Frafe uerd #t 39 & Frufor & fFrafafaa 8 @ 19 @ faft &1 amue wu 3 Suar faan
AT 82

1. Neutron activation analysis / QET‘TW@Q@IW
2. Tracer technique /WW

3. Radio therapy / X1SaT ARG

4. Radiocarbon dating /W@%’[

Correct Answer :-

« Radiocarbon dating /W SfeT

6) Which property helps in the separation of a homogeneous mixture into its constituents? /
P T VT TP T FAIY0T B SHP gep! A T HI1 | A Bl 82

1. Physical properties / Hifas qur

2. Smell of the constituents substances / T TeTf &1 Ty

3. The colour of the constituents / W % oLl

4. Chemical properties / W’IUT

Correct Answer :-

« Physical properties / g-m%l$'{:[UT

7) Identify the organism that does not belong to Kingdom Monera. /

39 Sftq B gAY St H1ART STa & Hafdd T8 g1
1. Mycoplasma / ATS® ST

2. Anabaena / TATEHT

3. Yeast / U1

4. Rhizobium / JISSNeAH

Correct Answer :-

o Yeast / IRe

8) Which of the following statements is INCORRECT regarding cell? /

FIRTPT & Yoy A FAuferfad #§ 9 Tad Y= ot uga= sifce?



1. Robert Hooke explained that new cells arise from pre existing cells. /
el g 7 w78 SR gd A B § I grft 7
2. Robert Brown discovered the cell nucleus. /
RI6E SIS A DRI o B @IS B
3. Schleiden and Schwann proposed the cell theory. /
YRS SR Y 3 BT Rigid &1 v faa|
4, Leeuwenhoek first saw and described a live cell. /

TARIP - T UGS Tolld HIABT B ST 3R ITHT faarur i)

Correct Answer :-

« Robert Hooke explained that new cells arise from pre existing cells. /

RIS g A FHI fb 715 HIBIT gd Hifal PIRIB1SH I I gt 5|

9) Which of the following is a dead tissue in a plant body? /
T T & IR A Faferfaa # @ #1991 9d Sao 22
1. Collenchyma / BIABTSHT (RJAHIUNAD)

2. Chlorenchyma / FI-RTSHT

3. Parenchyma / UR-ISHT (Ygd®)

4. Sclrenchyma / TRINAGIZAT (TG HAD)

Correct Answer :-

« Sclrenchyma / WRRABTZHT (TG $dd)

10) Sonia swam in a pool. She covered 100 m in 2 minutes by swimming from one end to the
other and returned to the starting point along the same path taking the same time. The average
speed of her is .

a1 T g@ # aR1! Hedl 81 98 TP DR A g BR a9 avay 2 fiFe # 100 e 1 w3t 3 3R a1 &t
UG B U 9Y gRTURYS fig R dle ot g | Suat siaara . &1

1.50 m/s / 50 HI A
2.0.83 m/s / 0.83 HIA
3.0.083 m/s / 0.083 HI/A
4.200 m/s / 200 /&

Correct Answer :-

. 0.83 m/s/0.83 WA

11) Arice bag is weighed at a place near the equator and the same is taken to Antarctica. The
weight of the bag will be v

TS AT9d & T BT YHEA IWT b U TH S8 TR a9 {51 oI1a1 8 3R 39 Sferdhiedt o & Srm Srar 81 97
LAk TR Gl



1. more at Antarctica / 3feTdhfedmT # 3HfdwH

2. same at both the places / G SHTGT R 9
3. less at Antarctica / 3fcTicadT H &HH

4. zero at Antarctica / 3feTd e H T

Correct Answer :-

. more at Antarctica / 3{cThicdhT H 3ifddh

12) A piece of paper is placed below a heavy book. When the paper is pulled fast, the book will

not move with the paper due to the ./
PN BT TP P ST, R TP P -0 IWT AT 2 | 91 SR DI doil & Wi AT 7, 9 [P ST & Q1Y
& PRI TE] gt

1. higher momentum of the book / ¥ &l 3= T

2. inertia of motion of the paper / BRTS &1 Tfd BT TS
3. inertia of direction of the book / G¥dd @1 fa=1 &1 e
4. inertia of rest of the book / J&I® ! fa’TH &1 g

Correct Answer :-

« inertia of rest of the book / T&io ! fdRTH & Sgd

13) Which of the following statements is INCORRECT about antibiotics? /
fFafafEa # ¥ o9 91 $YF tarifced & IR § e 872
1. They are very effective against viral infections. / d IRRT HhHUT b 353 ggd THTAT Eﬁ?f %I

2. Antibiotics are obtained from living organisms that kill or stop the growth of other microorganisms. / Q‘cﬂamﬁ%,

Sifad Sfiat & U g1 § S 3 Yerial & fawT ) dled a1 Adhd 3
3. They prevent the bacteria from making cell walls. / 3 e o HIfeT R 99 I Aba B

4. They block biochemical pathways which are important for bacteria. / 3 S IS AR Bl TG HR od g off
EESIRCIEA NI P URS O

Correct Answer :-

o They are very effective against viral infections. / d IR ThHU & 35@ ggd THTAT aﬁ %I

14)  The boiling points of diethvl ether, benzene and dimethvl ether are 34.6°C, 80.1°C and -24°C
respectively. Which one of the following correctly represents their boiling points in Kelvin scale

respectively? /
SEEASd 5. doiid 3R SHEAUEE s & FaudAlE: FAA: 34.6°C, 80.1°C 3R -24°C
8 @ # § #la Fa $eaa dae & 39F Fau-is ST &1 § gar
(¥4

1.238.4 K, 192.9K, 249 K

2.238.4K,192.9K, 297 K

3.307.6 K,353.1K,297K



4.307.6 K, 353.1 K, 249K

Correct Answer :-

» 307.6K,353.1K,249K

Topic:- General Computer

1) Which Key is used to delete a character to its left side of the cursor in MS Word 2010? /

THTY T8 2010 H, FIR & 18 TRE TP Haex &) {Sefte HA & fore i Hoit @) o1 3uai faar smar 2
1. Backspace button / P g

2. Esc button / Esc §¢

3. Delete button / fSTie §¢d

4. End button / US dc+

Correct Answer :-

» Backspace button / IHWY e

2) How many “workbook views” are available in MS Excel 2007? /
THTH TR 2007 B fHam "ahge o Iua= 82

1.4

2.3

3.6

4.5

Correct Answer :-

3) How many types of ‘Section Break’ are there in MS Word 2010? /
THTY TS 2010 H fha- TR & QRE 9 §2

1.4

2.3

3.6

4.5

Correct Answer :-

4) “MAN?” stands for: /

"gHUE" BT QUi U §:

1. Maximum Area Network / fRTH Qﬁtﬂm

2. Metropolitan Area Network / ﬁ@qﬁﬂm Jead



3. Minimum Area Network / o] U ] Hedd
4. Main Area Network /ﬁ:T qu ERGET

Correct Answer :-

« Metropolitan Area Network / ﬁ'@uﬁ%ﬁﬂ Qﬁ'CIT ERGET

5) Where are data and programme stored when the processor uses them? /

STeT 3R UHITH Pei Wifed §1d 8 o 7T STaN WA & gRT fbar Sirar 82
1. Secondary memory / Sdrex] HHRT

2. Programme memory / UT9TH AHRY

3. Main memory / B HAR]

4. Disk memory / f&%® THRY

Correct Answer :-

« Main memory / T AR

6) What is the keyboard shortcut (button or buttons to be pressed) for creating a chart from the selected cells in
MS Excel 2007? /

@?@ﬁa2oo7ﬁ,wﬁmﬁwﬁwaﬁaﬂﬁ%ﬁqaﬁ-aﬁm(mmmaﬁwm)
T 8?

1. F3
2. F11
3. F7
4. F5

Correct Answer :-

« Fl1

7) Which of the following is the extension for a macro enabled Excel 2010 template file? /
Teh! A& TR 2010 THAC BIsd & forg Frafafaa & @ 1 a1 geadzm 32

1. .xltm
2. xltx
3. xlsx

4. xIsm

Correct Answer :-

8) Which is the minimum zoom level percentage in MS Word 2010? /

THTH T8 2010 H gAqH JH = Ufa=rd $i9 a1 8?2



1. 15%
2.20%
3. 10%
4. 5%

Correct Answer :-

« 10%

9) Which among the following is not an edition of MS Word? /
fFafafad & 3 S 91 THT 98 &1 T W0 81 82

1. MS Word 2010 / THTY TS 2010

2. MS Word 2016/ THTH T8 2016

3. MS Word 2007 / THTH T8 2007

4. MS Word 1900 / THTH 8 1900

Correct Answer :-

« MS Word 1900 / THTH S 1900

10) The action Ctrl+O performs operation in the MS-Word 2007. /
THTH T8 2007 §, TR Ctrl+0 FTd o AT 5 |

1. Open / 3=

2. Print / fiie

3. Close / GIST

4. Redo / ﬂg

Correct Answer :-

. Open/Gn'q:f

11) In MS Excel 2010, shortcut key to “Go To” dialogue box is: /
THTH TR 2010 H, "7 g STIaNT 919 & forg qiidse Hoil &
1. Ctrl+T

2. Ctrl+G

3. Alt+T

4. Alt+G

Correct Answer :-

o Ctrl+G

12) In MS Excel 2010, which of the following shortcut key to reverse the last command or to delete the last entry
that you typed? /



THEH TR 2010 ¥, 3ifdd HHiS o1 e B 91 3Mud §RT 15U 1 T3 Sifaw ¢t &1 ge & forg
fFafafea Aidee R AT DA A 82

1. Cul+Y
2. Ctrl+X
3. Ctrl+Z
4, Ctrl+W

Correct Answer :-

o CtrltZ

13) In MS-Word 2007, what is the function of Window/Orphan control? /

THTH-TS 2007 H, fISY/aiTth1 fori=or &1 ord a1 32

1. It will allow you to keep your paragraphs together. / g 3P TRETH Th Ty G P G'Iﬂ'qﬁ o %I

2. It will allow you to form a sentence. / g 3! Uh diag FIH DI HﬂﬂﬁaﬂT %I

3. It will not allow you to keep your paragraphs together. / g 3T TREMH THATY G Bt \’rﬂtlﬁf T T B
4. It will not allow you to form a sentence. / g TUD[ Uh dIR] I G| &aﬂﬁrﬂ'@éﬁT%l

Correct Answer :-

« It will allow you to keep your paragraphs together. / g 3P WRETH CRSIE TG Bt G'IT:IﬁT adr %I

14) CANCELLED

What is the shortcut key for "Find and Replace" dialog box in MS word? /
THUH 98 H "Bres R R sTaeiT aiet & g @14 W widee o1 32
1. Cul+H

2. Ctrl + Shift + F

3.Ctrl + F

4. Ctrl + R

Correct Answer :-

e Ctrl+F

Topic:- Civil Engineering

1) If the line of action of all the forces in a plane is passing through a single point, then it represents a: /
gfe e aHaa § Wt aai @t forar Y1 ted fig 3 giex qorddt g, df a8 it 3:

1. Collinear force system / I I JoTTe

2. Parallel force system / THIAR I JorTet

3. General force system / HHI d¢] PG|

4. Concurrent force system / It S yomert



Correct Answer :-

» Concurrent force system / I & gomert

2) In the direct method of contouring, the process of locating or identifying points lying on a contour is called
-

Wam%am@ﬁmaﬁxﬁ%ﬁﬁfﬁﬁ,mw@aﬁgaﬁﬁgﬁmmaﬁmﬁ
HgT ST 8|

1. centering / BB

2. vertical control / WT‘[&PHW
3. ranging / W_‘@ﬂ

4. horizontal control / &fcrst fezror

Correct Answer :-

« vertical control / Aedq IBRELI

3) On Indian Railways, the standard length of rails in a Broad Gauge trackis__ ./
YRAGITA H, Ais A ep AVl sl AAS da1s B

1. 11.98m / 11.98 HIcR

2.12.8m / 12.8 HIcR

3.10.97m / 10.97 HicR

4. 10.06m / 10.06 dieR

Correct Answer :-

e 12.8m/12.8 Hiex

4) 1In tack coat, bitumen is used at the rate of ./
TP WA @@ Fie) |, faghT IR UG far S g

& Yifind
p, dkeg/m

5 0.5 kg/m?

3. lkg/m-

10kg/m?
4, o

Correct Answer :-

5) Name the pipe which is provided in septic tank for discharge of foul gases. /

I UTSY FT ATH FaT¢ ForasT IuahT AfY® o | gri-urgad Tt & frspra=r & ferg frar srar 81
1. Anti-siphonage pipe / Q?ﬁ-wﬁf EIER

2. Outlet pipe / 33caic urgy



3. Vent pipe / deugy
4. Man hole / ﬁ=r Eﬁ?’[

Correct Answer :-

« Vent pipe / deursy

6) Diagonal bond is a pattern of bond in: /
ST afS 39 9IS 31 TP Ufov=y :
1. English bond / Sf=T di

2. Flemish bond / TRIHRI S8

3. Dutch bond / ST &S

4. Raking bond / REZICIE

Correct Answer :-

« Raking bond / NERIKIES

7) Find the delta for a crop when its duty is 432 hectares/cumec on the field, if the base of the crop is 150 days. /
TP BId & [T 3o 71d B9, e 87 IR gl 432 IRIVAAS ©, °fe BUd BT MYR 150 R B

1. 150 cm / 150 4t

2.200 cm / 200 TH

3.300 cm / 300 TH}

4,432 cm /432 T

Correct Answer :-

« 300 cm /300 Tt

8) A short tube of length not more than two or three times its diameter, which is fitted to a circular opening in a
tank is known as i

TP B} ogd e daTs 39% o | &t a1 9 A F 31t 71 8 ok o Uep ¢ & g R g W
fedwga,_ wsamdt

1. orifice / eIl
2. mouth piece / H@W

3. weir / 919

4. notch / I

Correct Answer :-

« mouth piece / H@Hﬂ

9) Putty is made up of: /

LHEGEERICIES



1. Powered chalk and raw linseed oil / G1dS i Td Al BT Heal ad

2. Red lead and linseed oil / TTeT &S Td STl b1 et

3. Zinc oxide and boiled linseed oil / fSi& 31‘?11%13‘6’ ] 3T BT Iadl gl ad
4. White lead and turpentine / ﬂ'a?_d NES] I'G) RIECIG]

Correct Answer :-

« Powered chalk and raw linseed oil / TIdS Tl T e BT pm ad

10) Moment of inertia of a circular section of radius ‘R’ about its diametrical axis is: /
T URTT TS forad aarity ¢t = s R’ 7, S9@1 s smyguf ghm:

TR*

1, 64

TR*

2. 32

4. B

11) Empirical relationship between tensile strength and compressive strength of concrete is given by: /
Hewic B a9 ame ayr dltes amd & aw sgyae=g Ty e ¥ g1 e fee o
1. Tensile strength = 0.47*fck / d-- e =0.47*fck

2. fck = 0.47*tensile strength / fck=0.47*d-- gt

3, Tensile strength = k(compressive strength)® | delel |IHLY = RGEIEED WER'ED“

_ compressive strength / '-H"-ﬂ?ﬂ; '-H'FH'E?&

4. tensile strength=fck | O JTAERT «fck

Correct Answer :-
. Tensile strength = kicompressive strength)® / delel AT = NGEIEED Wﬁfﬂ“

12) ISLC stands for: /

TSTITAA (ISLC) FT YUf = A= 8-

1. Indian Standard Lower Weight Channel / 5%’57‘[ @3@ AR AT a:lﬂ
2. Indian Standard Lower Channel / g%’qu QE_GC AR AT

3. Indian Standard Light Channel / sﬁ'ﬂ:f XIS NIEE I

4. Indian Standard Lightweight Channel / ‘5'%4'1 %?‘.‘SSr mlscac ?Hm



Correct Answer :-

« Indian Standard Lightweight Channel / §[$9 ¥ S8 Wgcde I

13) is defined as load per unit area. /

__ ®iufaserE &awd YR & w9 8 uRuiia fear srar g1
1. Strain /

2. Rigidity / €edl

3. Stress / 19

4. Pressure / Q¥

Correct Answer :-

o Stress / ddld

14) Bernoulli’s theorem deals with the law of conservation of ./

R &7 Rrgia & weamr & Fram @ dEita g
1. energy / SHolf

2. discharge / fFAgROT

3. pressure / GIdl

4. mass / *UHIT

Correct Answer :-

o energy / \HSl

15) According to general thumb rule, the height of the door will be .
AT AR, A F A e iR

1. width +0.25 m / ST +0.25 HI

2. width +2.25 m / ST +2.25 7t

3. width + 1 m / ST + 1 Y

4. width + 1.25 m / TNST8 + 1.25 H

Correct Answer :-

o width + 1 m /A8 + 1 1

16) According to Kuichling formula, if P is the population of a place in thousands, then the fire demand of water
in liters per minute is given by: /

PSARTT I P IER, TfS P TP I A BoIRI B AMaTdl @ o eitex ufa fieie # oiet 9 wraR f$wis 39

, 6363p

, 46409p



, 3182

,, 5663p

Correct Answer :-

31824p

17) Sudden and turbulent passage of water from a super critical state to subcritical state is known as
/

SHfa Hifad AT A SUhifed SaRIT ATl STed BT ITH WD T fagfes dspwor Fgardrgl
1. hydraulic gradient / ERIEECIG]]

2. hydraulic jump / Ay g

3. hydraulic mean radius / STeirg w1 A

4. hydraulic depth / STC TETS

Correct Answer :-

« hydraulic jump / G419 S

18) Newton’s law of viscosity states that: /

e &1 1 BT 1w ifie iy war g fF:

1. Shear stress is directly proportional to the shear strain /
SO Tifdlelet , SIREYUT fAghidl & SRIghHIITCH BlaT 8 |

2. Shear stress is directly proportional to the viscosity /
SUREYUT UfAE , Rl & STHHU ST ] |

3. Shear stress is directly proportional to the velocity /
T YA , A7 & SIHHUT Sial 3|

4. Shear stress is directly proportional to the velocity gradient /
3UTUT et , 37 UaUrdT (AaiRie! AfSe) b SpHruTd 8T 8|

Correct Answer :-

« Shear stress is directly proportional to the velocity gradient /

U sl , 3T UaUrdT (AaiRie) AT e) b SpHuT g 8|

19) In optical square, the two siwered and unsiwered glass is fixed making an angle of to each other. /

vy a1t ®, 3t Riad aur sARied @ e g d BT R T fpg wI1a €1

]

1. 9

Lh

]
Lh



>
~1
LA

Correct Answer :-

20) When a dam has to be constructed in a narrow ‘V’ shaped valley, which of the following types of dam is
suitable according to its topography? /.

q ®Ig 9y Il v PR aret wrdt # fAftfa favar wirar 2, 99 sue) waefa & o frafafea a @
59 YR FT 91y UGS giaT 32

1. Barrage / SRV

2. Arch dam/ ﬁm a9y

3. Earth fill dam / 3% ftha SH
4. Overflow dam / GTW'CIH'I—E' qiY

Correct Answer :-

e Arch dam/ ﬁm Yy

21) Contour lines cross valley line at )

THFIG IR WRUR B gl

4.

Correct Answer :-

22) A test used to measure the strength of waste water is called ./

JUTRTT T BT &HaT B AU & g Wi fosar S arerm wteror FEarar g
1. pH / UIG=

2. BOD / si3fiSt

3. Surface setting rate / T8 AT &%

4. Detention period / 3aRTY 3fafey

Correct Answer :-

. BOD / dt3fiet

N



%ﬁfmaﬁm;wﬁaﬁaswa?mwﬁqmaﬁwm%ﬁqwﬂﬁﬁmﬁv@m
) g g1

1. 15%
2.10%
3.25%
4. 5%

Correct Answer :-

« 10%

24) What is Distemper? /

SR 7R

1. A drying agent. / R[S H I hRh (§I$‘I Q@?’)

2. A paint consisting of powdered chalk, pigments and water. / QW[ Ye forad fosht E_EE %r”@, T qYT ofd giel % I
3. A paint consisting of coloured cement and water. / QF[ Ue forgd T dide qur o Eﬁ?ﬂ % |

4. A water proofing agent. / U ST AN PRSP |

Correct Answer :-

« A paint consisting of powdered chalk, pigments and water. / QW[ Ye forad foht Eg H‘W, TS YT e gl % |

25) What is the SI unit of viscosity? /
AT $1 SI TPTS T 32

, Both Nsim?and P,5 / Nsm? 3R P,s &=l
5 Pysonly/ thdd P,s
3. kN/m

4. Ns/m? only/ dhdel Nsm?

Correct Answer :-

., Both Nsm’and P,s / Ns/m?23iR Bs G

26) What is the reciprocal of compressibility? /
HelSudr &1 gohH T 82

1. Modulus of elasticity / TR bT ATUTDH

2. Pressure / qId

3. Volumetric strain / S'ITZITC?[ GEIC)

4. Bulk modulus of elasticity / STId U] ATk

Correct Answer :-

« Bulk modulus of elasticity / 3TId YA HIUIH



27) What is the condition for maximum discharge through a circular channel section using Manning’s formula? /
AT BTHET & ITENT §RT U qaiid a9d ufiede & arend | siftrean fHag+ (e & e« fufa 32
1. 0.938D

2.0.105R

3.0.5D

4.0.093R

Correct Answer :-

« 0.938D

28) Overturning of vehicles on a curve can be avoided by using ./
& IUGNT GRT TS I3 R 161 1 Ueie § ST §HdT g |

1. compound curve / Jgad e

2. reverse curve / Wﬁr&'

3. vertical curve / Feafer Ih?;

4. transition curve / URIHT ﬁ@’

Correct Answer :-

. transition curve / ORI HIS

29) For Western Ghats, the relation between runoff ‘R’ and rainfall ‘P’ (both in cm), given by Inglis and De Souza
formula is: /

a3t uda Sfor & forg, $FerT SiR Sge gRT 3T T 93 & /AR 311w, 'R’ TE XTI, ' @1 T
ﬁ)a?nwﬁ"-;m"q'ﬂ%

1.R=ksP
2.R=kb P

3.R=0.85P -30.5

R=—

4. 254

P (P-17.8)

Correct Answer :-

« R=0.85P -30.5

30) For structural purpose, the minimum grade of concrete as per the code is: /
TG 3£%4 & g, Jifear & SgaR $wie ot YAau ds A 8;

1. M40

2. M20

3. M60

4. M15

Correct Answer :-



31) Why is gypsum added at the time of grinding cement? /

HiHe ot JEfET & wwy forew w41 fieman sirar 82

1. To increase durability / FeREITRIE o dx & & g

2. To increase plasticity / FTHIdT | q@ CANLY

3. To impart resistance to chemical attack / IS 3HHUT AR I B ]%I'Q
4. To prevent flash setting / T AT Ap B T%I'Q

Correct Answer :-

« To prevent flash setting / Y AT AP & ﬁ'ﬂ!

32) As per 1S456-2000, a longitudinal steel reinforcement for column shall not be less than of the gross
cross-sectional area of the column. /

18456-2000 ¥ AR, HIa¥ & T Te srgeef STt Gedtdvr, WY & Jhd UR-FURNT 81 & q
ST 51 gRM|

1. 0.8%
2.0.2%
3.0.45%
4.0.15%

Correct Answer :-

« 0.8%

33) As per 1S456-2000, the basic value for span to depth ratio for cantilever beam up to 10mis___ ./
1S456-2000 & 3R, 10 . TF B Hleliar 19 F NS Td TeIE & U ST RS A g3l
1.26

2.7

3.17

4.20

Correct Answer :-

34) As per Bye Law in accordance with Indian electricity rules, the minimum horizontal clearance between the
building and the electric supply line for high voltage line up to 11 kV is i

I a1 SR WR< fagga Al & SR, T fafeE™ iR 1 kv 9@ I Jieear arg & fore fagyge smyfed
aedrdugaan dfoe et R

1.2m/2 |

2.12m/12Ht



3.2.5m/2.5H
4.37m /3.7 9

Correct Answer :-

.« 12m/1.2Hl
35) Evaluate the tensile strength of concrete of grade M40. /
US M40 & Hepic Bl a9 &HdT BT Tedidd B |

) 442 N/mm?

2 4.70 N/mm?

3 4 14 N/mm?

495 N/mm?
4,

Correct Answer :-
4 42 N/mm?

36) If the sum of the percentage amount of coarse aggregate retained is 694.5, then calculate the fineness modulus
of coarse aggregate. /

;ﬁmﬁaﬂ;@wﬁm(ﬁﬁmaﬂmmmm@u%ﬁmmaﬂwm
TOMHT B |

1. 70.86
2.69.45
3.0.6945

4. 6.945

Correct Answer :-

« 6.945

37) One sq. foot in sq. meter is: /
P o pe A Fu T die g e
1.0.083 sqm

2.0.073 sqm

3.0.103 sqm

4.0.093 sqm

Correct Answer :-

« 0.093sqm

38) Which of the following causes eutrophication of water bodies? /



et FreTa & SO ST R T T S e

1. Discharge of toxic substances / v uerf &1 fdg

2. Excessive discharge of nutrients / U] BT I ﬁa%q

3. Excessive discharge of chlorides / a@mw ffa=rg ﬁé@q
4. Excessive turbidity / 3R SMfderdm

Correct Answer :-

» Excessive discharge of nutrients / Ui &l T ﬁé@q

39) Which of the following is NOT a property of aluminium? /
frfafaa & & T Tegifaw &1 ue i T8t 82

1. It is a good conductor of heat. / Y HBHI b Ydlcidh gl

2. Tt is ductile. / T8 TRI |

3. It is a bad conductor of electricity. / Ug ﬁﬂ:ﬁﬁ Pl PN gl

4. It is a soft metal. / g Udh —H %ﬂﬂ%l

Correct Answer :-

« It is a bad conductor of electricity. / U8 ﬁﬂ:ﬂﬁ CakeCINCD gl

40) Which of the following types of rail section has better rigidity and stiffness to resist lateral and vertical forces?
/

fa yoR & Ya Ts ° uref 3R daad gl &1 ufeRiy $ F 1T dgav Tear iR FeRaT gt 32
1. Flat footed rail / IUC TR dTcl

2. Butt headed rail / a1 /Y ATt

3. Bull headed rail / §a Y ardt

4. Double headed rail / Qgx X ATt

Correct Answer :-

« Flat footed rail / TUC YR AT

41) Which one of the following tests is preferred in laboratory to determine the extent of weathering of aggregate
for road works? /

gﬁaﬁwm&mvﬂmﬁ%wﬁ%ﬁwmﬁmﬁﬁmﬁwﬁaﬁm
T §?

1. Soundness test / mqﬁ&‘m
2. Crushing test / Gde URI&OT
3. Impact test / THTd U&7

4. Abrasion test / gyor TRieqor

Correct Answer :-

« Soundness test / €adl tIﬂ&‘IUT



42) Which one of the following statements is INCORRECT about gravity conduit? /
TRyl Tl & e & e & F &9 a1 By SR 82
1. Gravity conduit can be laid as desired by the existing topography of the area. /
TEATHYUT et & & HIS[GT RIATHId & gRI ifdd U J 4T o Gl g
2. Flumes are a type of gravity conduit. /
GITIDTY Ueh ThR B ol el Bial & |
3. In gravity conduit, water will flow under atmospheric pressure. /
QG Al B, Sd agHUSH a9 & Sfdifd yarigd gar |
4. In gravity conduit, hydraulic gradient line will coincide with the water surface. /
o YUT AT H, ST YGUIdT 3T ST g & SuTe gl B
Correct Answer :-

 Gravity conduit can be laid as desired by the existing topography of the area. /

TEATHYUT et & & HIS[Gl RIATHId & gRI difedd U I 4T o ¥ahel! g

43) Which one of the following is NOT a type of shallow foundation? /
frefafEa & @« wadt Hia (A TIESIE) FT IR0 E 32
1. Drilled pier / f&T&d deay

2. Mat foundation / ST qde areit Hia

3. Continuous footing / 3AUS Hiq

4. Combined footing / fofsa a

Correct Answer :-

« Drilled pier / ofad deey

44) Which one of the following is NOT a factor responsible for sewer corrosion? /
e % 3 $19 e &R & g SwRerd R T8 32

1. Low velocity of sewage flow / H1as vate &1 9 ot

2. Good ventilation / 33T aTg IR

3. High sewage temperature / 1o &1 I AIHH

4. High BOD / 3 §13f1e!

Correct Answer :-

« Good ventilation / 3T a1 TR

45) The average daily draft/demand of city whose average water consumption is 250 Ipcd and population is
1,20,000 would be .



wwa‘%aﬁvﬁ%mwmﬁ ghft, oIt 3fTd STe SUTHRT UIT 250 Ipcd B 3R S5
1,20,000 21

1.25 MLD
2. 120 MLD
3.250 MLD
4.30 MLD

Correct Answer :-

« 30 MLD

46) The condition of the land where the water table is at or near the ground level and becomes detrimental to the
plant life is called as i

yft &} 98 fRufS 5181 9ra W= a1 af Wifie TR R a1 39 fAde giar @ 8k ureu shiaq & g givere a9
W B, Fgamr gl

1. super saturation / ISR
2. water logging / SI¢ HId

3. flooding / dl@

4. seepage flood / ESICEIIEIE

Correct Answer :-

« water logging / SI¢T HRIG

47) The shape of ‘Give Way’ sign in the traffic signal is: /
ITATATd Hebd H T &' P Hobd BT PR 7 §1aT :
1. Rectangle / 3{Id

2. Octagonal / 3TSCHS

3. Circle /

4, Inverted triangle / 3¢<l aﬁ\_ﬂ

Correct Answer :-

« Inverted triangle / 3¢C ﬁﬁ\_ﬂ

48) The instrument used to set out a right angle to the chain line is called as .

4T ¥ (I AT & AT 111 & T gerd g1 arat a1 Y FET AT 8|
1. piaster lath / TR Ty

2. plumb bob / Wd §Td

3. line ranger / TS YOR

4. cross staff / 19 €IH

Correct Answer :-

« cross staff / 1T W



49) The instrument used for the measurement of wind speed is: /
1Y 14 & WY & fore wge favar S aren Iuwur &:

1. Atmometer / Qa:h'ﬁﬁa

2. Odometer / 3SR

3. Anemometer / Q'_‘“Ii Hiex
4. Rotameter / Q e

Correct Answer :-

« Anemometer / Q:iln e

50) The structure which has an assembly of rigid but elastic members joined in the form of triangles to act as
beam is called as ./

ﬁﬁﬁﬂﬁﬂ%ﬁﬁ%ﬂﬁwmﬁ%mﬁw?ﬂﬁ@waﬁﬁmama‘r’mﬁﬁsiﬁm%,
PedAldlBl

1. stanchion / GHT (QT-Q'I:D
2. column / ¥dH (ﬁm
3. crown / TS (P13)

4. truss / 7T (€¥)
Correct Answer :-

o truss /T (€¥)

51) The unit of rolled steel sections as I-beam, channel and angle used for general construction works in metric
system is taken as .

Hfee Rew & v fAmfor st & fie yygad 811 ara Afcad swurd wR=sel 9 & 1-diw, 39« aur o
PP ___ gzl

1. length in mm, section in mm / firefidier ?Wl_sc, firefidier | tlﬂ%_t‘{
2. length in m, section in mm / Hex | FWI’&E, iR o qﬁ%_ci

3. length in cm, section in mm / e | ?‘ia'l_ic, e | EI'P\’%_Q'
4. length in cm, section in cm / e d ?‘ia'l_sc, e ® EI'F\’EE_C{

Correct Answer :-

« length in m, section in mm / e d F‘ia'lg, e § uR=ee

52) The Simpson’s rule for determination of areas is used when the number of offsets are: /

&t & FrufRor & forg R &1 fFraw @@ Suai faa &irar &, o sifede 31w gl 3
1.2

2. even /IH

3.3



4. odd / fawH

Correct Answer :-

. odd /fawH

53) The critical hydraulic gradient observed for sand boiling condition is given by: /

s FrafeT awT & fore saaifed ffewa sgsifae Afste f=1 & gRT a fora ST 2:

i _G—l
1. = 1+e

. G+1
1. =
4, 1+e

Correct Answer :-

_ G—-1
. 1+te

54) The dowel bars used in a R.C.C. footing is an example of: /

IRt i A gwTe fPg 91 aTd STae I fPaeT Ue SaeRu §:
1. Plastic hinge / wWiRes gt

2. Development bond / SdgHC §IS

3. Redistribution of moment / G'ITﬂ;Uf DIy IEGRUYI

4. Anchorage bond / QW G

Correct Answer :-

« Development bond / SaAuHc die

55) The term ‘SOFFIT’ used in the stairs is: /
Hifeat # sawra Aifthewres frusd g ygea giar e:
1. Top surface of stairs / ?ﬁ]%?:h B S Ydg

2. Outer projection of a tread / b dcl & Eﬂ%ﬁﬁ HIT

3. Side surface of stairs / Fﬂ%ﬁf & f IRl Bt Hdg

4. Under surface of stairs / %ﬂ%@r CARGEN] qde

Correct Answer :-

« Under surface of stairs / 9 a i bt Frett Ydeg



wdt Aferal d St B g d 81 BT FRT 8-
1. Sudden enlargement / 3THTID Jfg

2. Sudden contraction / 3{ThTRTH Yo

3. Length of pipe / 7Tell &1 daTs

4, Friction in pipe / ol 7 gefor

Correct Answer :-

o Friction in pipe / ol & Teor

57) The line where the velocity potential is constant is called as .
a8 Y, gt a1 fRva RR § R, HEaar el

1. equipotential line / FAfHT T

2. flow line / UaTg TTfddb (QFﬁ NIER))

3. velocity gradient / CURCLUG]]

4, steam line / dT¥-gd-deh (@I{ NIES))

Correct Answer :-

« equipotential line / gafgHa 3T

58) The difference of Qact and Qth in a reciprocating pump iscalled ./
TP UATTH GO H Qact MR Qth F IR B Pgd gl

1. Efficiency / G&ldl

2. Loss of energy / W‘fﬁ ETIET

3. Discharge / ﬁa‘%ﬂ

4. Slip / Raq

Correct Answer :-

. Slip /f&@

59) The line which gives the sum of pressure head, datum head and kinetic head of a flowing fluid in a pipe is
called as a line. /

98 Y@ S TP UTSY # YaTied 819 a1d avd 1 URR B8, SCH 88 dUT HISAfed &8 BT a1 USH $d! g,
3T HEardt 2|

1. hydraulic gradient / ERIEECIG]]
2. discharge gradient / 3THTd YUl
3. velocity gradient / CURCIUGI]

4. total energy / Pl ol

Correct Answer :-

« total energy / Pl Hvl



60) The recommended diameter of domestic sewer pipe laid at a gradient 1 in 100 shall be ./
100 # 1 BTd TR W TS A WATE UTSY $T SRR ™ g

1. 100

2. 175

3. 150

4,125

Correct Answer :-

« 150

61) The approximate cost of a building of cubic content of 350 Cum at Rs. 250 per Cum is: /

250/- ¥ ufa ¥4 Wiex & SR 350 ¥ Hiex &) ¥4 AT & Th Ha &1 SrgH1f—a @ 8:
1. Rs. 97500

2. Rs. 67500

3. Rs. 77500

4. Rs. 87500

Correct Answer :-

» Rs. 87500

62) The approximate number of masons required for plastering a wall of length 25m and height 3m is ./

zsﬁﬁﬁ;ﬁaﬁvswmwﬂwaﬁaﬂwmﬁwmﬁ%mwﬁ%ﬁaﬂaﬂmﬁam
|

1.8
2.7
3.6

4.5

Correct Answer :-

63) The IS code used to perform a standard penetration test is: /

TS AFS A URI&0 H & g SuaT foman 1 1s s §:
1. IS 2720

2.1S 2131

3. IS 2386

4. 1S 456

Correct Answer :-

« 1S2131



64) The volume of one bag of cement is ./
HiHe & Te a9 o1 A g

1. 34 Cubic meter / 34 Y+ ez

2. 3.4 Cubic meter / 3.4 g9 Hiex

3. 0.34 Cubic meter / 0.34 Y Hex

4. 0.034 Cubic meter / 0.034 U HieR

Correct Answer :-

e 0.034 Cubic meter / 0.034 Y- e

65) The type of bond consists of alternate course of header and stretches is: /
dis & ford TPR A 7S 3R WA & IBfers AT o:

1. English bond / RIGEEIES

2. Diagonal bond / S a8

3. Flemish bond / TRIHRI S-S

4. Raking bond / X[ a1

Correct Answer :-

« English bond / ‘sfﬁ?ﬂraT%'

66) The useful part of liveable area of a building is called .

TS U S WA T R BIIWIN YR wgamar gl
1. carpet area / BTUC TRAT

2. plinth area / f&TY TRAT

3. horizontal circulation area / Eﬁw W Eﬁ'{ﬂ

4. circulation area / YOI TRAT

Correct Answer :-

o carpet area / FIde TRy

67) The formula for flood discharge are mostly of the form: /
T1e fAde (wrs fewamh) & fore g sifeiva: s FU A g &

) Q=C+A+n
2 e

3. Q=Clog: (n)
4. FE

Correct Answer :-



68) The term is used to designate the part of a structure that transmit its own weight, weight of the
superstructure and other forces which may act upon them. /

T, BT ITUNT TG & IH HRT H) FAfdee H37 & e forar wirar @ S W 3rvA WR, iftR=T &
YR TUT 3T g0 1 IR HaT &, St 37 W HRIG 81 9Fhd &1

1. Plinth / Ty
2. Live load / IS4 IS
3. Foundation / BTG S ¥

4. T-beam / T—Eﬁ'q

Correct Answer :-

« Foundation / EF’lG%Q B

69) The number of modular bricks required for 2.5 Cu-m of brick masonry is: /
2.5 99 Hiex €e g & forg sawass yamdia €1 ) wer 3:

1. 1550

2. 1435

3.1250

4. 1625

Correct Answer :-

« 1250

70) The measurement is not made in square metres in case of .
& ATHA § 919 o Hie | A8 s man g

1. reinforced concrete chajjas / GafeId dehic Fooll

2. form works / TTT BT

3. concrete jaffries | HEpIC STHRY

4. damp proof courses / T eft pid

Correct Answer :-

« reinforced concrete chajjas / UafeId dehic Tooll

71) The shortest distance from the root of the fillet weld to the face of the diagrammatic weld is known
as .

fpdic dee T 4d (F0) A SIS Avs & D B GAdH gt I HET AT 2|
1. effective length / THTAT T“Wl_if

2. effective cover / GHTAT TaRTT

3. effective throat thickness / UHTdl &6 ﬁl’c’l‘s‘



4. effective depth / PHICIRIRNE]

Correct Answer :-

« effective throat thickness / UHTAI &S uﬁ'{rs‘

72) The highest point (in cross section) of a curved road surface, commonly at or near the center is called as
.

Wmaﬁgagmagmﬁg@hﬁwﬁ),ﬁmzwwmmﬁwmma
Pedldiel

1. summit / RRIGR

2. peak / et

3. cross fall / 19 WTd
4. crown / JTY

Correct Answer :-

e crown/ Qﬂ'ﬁf

73) The process of mixing the sewage with large volume of water to keep in aerobic condition is known as: /
el fRufa & @A & i ora &Y 91 71 & Ty va fAyor w39 3 uferar S 39 919 A S S g:
1. Current / SITUdTE

2. Oxidation / STRITHT

3. Dilution / IR
4. Sedimentation / {ddTgd

Correct Answer :-

« Dilution / dxTT

74) The portion of a wall between facing and backing is termed as i

FMF M IV ABA UM F AT YRS FHeTAET |
1. facing/w

2. backing / SfpT

3. hearting / ET%T

4. racking /T

Correct Answer :-

o hearting / Bl &

75) The hydrometer test for grain size analysis is based on the principle that: /
S TSR AT A5 fagerwor & g grzgiites udiamn frer Rigia o smutfya gtar @:

1. The grains of different sizes fall through a liquid at different velocities /



faf¥=1 3P RY aTet U1 Ueh Rl & AreA J fafH= 9 R IR Bl

2. The grains of different sizes forms clusters /
A= SMTHRY aTa T, T[] (FaweR) B i Rl B

3. The induced centrifugal force separates out the particles based on their grain size /
SART STHET T, BN Bl ITD SHTHR & SMYR TR RT3 PR el 3|

4. The repulsion of water causes grains to settle at different times /

S & Ufdp YT B BRI, HUT SHT-3eT JHY T fRR g1 &

Correct Answer :-

» The grains of different sizes fall through a liquid at different velocities /

faft=T 3MPRY I BV T R & T I faf= Im R fRA |1

76) The maximum area of tension reinforcement in beam shall not be more than .
19 ¥ q1a ufaaa 1 siftrean e ¥ aiftre 751 g1 TR

1.0.01bD

2.0.0004 D

3.0.004 bD

4.0.04 bD

Correct Answer :-

« 0.04bD

77) The soils which plot above the A line in a plasticity chart are known as: /

q ey forg grrmrar a1é § A 11 & SHW W1 9161 7, A & =0 § 9 ot 8
1. Clays / =it firgt

2. Sands / Xd

3. Silts / TS

4. Organic soils / 3% HaTg

Correct Answer :-

. Clays/ﬁlﬁ&l@

78) During sewage treatment, effluent from has the minimum wt/vol amount of suspended solids. /

e IR & R, ¥ 3Ry freifad 31 verdf & gFaq wt/vol TRT B
1. secondary sedimentation tank / H1ANS ddSe chl

2. detritus channel / ?‘:E;I’s?ﬂ a:ﬁ"f

3. primary sedimentation tank / UIfAe dase Tt

4. activated sludge process aeration tank / iy ﬁﬂ‘s’ gfar aTQ&BI'UT TPl

Correct Answer :-



« secondary sedimentation tank / e daec ol

79) 1In a good staircase, the pitch of the stair should .

TH IS o (RWR &), W 31 S8 39 TR g+t i
never exceed 90° and should not be flatter than 45°%/
L. HET 890" F 3T g1 glell =ifgr AR 45° & SEr GAad 6! glell =gl

never exceed 60° and should not be flatter than 30°/

o, Fo 560" & 3o & @ =T 3w 300 & SEr wHEAe 79 g e

never exceed 40° and should not be flatter than 25°f
5, ot 8ft 40° & 3ifad et glelr =ifgw 3R 25° & Swrer WA AGl glel Gy
never exceed 60° and should not be flatter than 25°/

4, T 60" & 3TEF Fgl gie =gy 3R 25° ¥ SHEr FHATS A6l il ARV

Correct Answer :-

never exceed 40° and should not be flatter than 25°%/

. &Y &Y 400 & 3fEF 9T g Tfgv 3k 250 & Sur §HEad A6 g IR

80) It is always desirable to carryout survey work from_____ ./
FagU A S pATSANTABA ST 8l

1. part to the whole / HIT 9 ‘{Uf ddh

2. whole to the part / ‘IUTQ HIT dh

3. higher level to the lower level / 3o ¥R IR d®

4. lower level to higher level / 19 TR A I TR dH

Correct Answer :-

» whole to the part / ‘{Ufﬁ HIT dh

81) A fine grained soil has liquid limit of 60 and plastic limit of 20 as per plasticity chart. According to IS
classification, the soil is represented by which of the following letter symbols? /

ueddT 918 & AR, G&H BN areil T | 60 B avaar ST 94T 20 Pt Jaeaar ST gidt 31 1s TifHor
F IR, YT B F= 31eR ueftel & gr1 fAefia foan wiran @2

1. CL
2.CH
3. CL-ML

4. Cl

Correct Answer :-

82) When considerably excess quantity of chlorine is added than that required for bacterial purification, it is
called J



?WW%WWWQWWWW%,H}@ CZHRSIG]
|

1. dechlorination / FESFARARM

2. residual chlorination / i‘ﬁf@'@{a FAMNARH

3. super chlorination / JUX FAMNARA

4. break point chlorination / ECY Wrse FAINRARA

Correct Answer :-

« super chlorination / JUX FAMNARH

83) CANCELLED

Laminar flow takes place in a circular tube. At what distance from the boundary does the local velocity equal the
average velocity? /

ot waTE T et e F g 21 e & R g8t v it v v 3 wRTeR @) ot 22
1. 0.29R
2. 0.94R
3.0.32R
4. 0.53R

Correct Answer :-

« 0.29R

84) CANCELLED
Cement and water slurry coming on top and setting on the surface is defined as /

W?wmﬁ@mmﬁwﬁawwwmﬁﬁaﬁ & =0 & Ry forar s
HPpdr 2| -

1. segregation/ﬁwa:f
2. crazing / BT

3. bleeding / AU

4. laitance / e

Correct Answer :-

. laitance / AT
85) CANCELLED

Shelby tube is one of the most widely used devices for: /

Raars ege A & forg watfie ugea g areht feasw 2:
1. Drilling rocks and cobbles / At T afear i 3'%1‘
2. Measuring effective stress / YA ufded o A9



3. Wash borings / SIRIT &1 ¢ells
4. Collecting undisturbed soil samples / S{ETd fAET & T T AT HA

Correct Answer :-

« Collecting undisturbed soil samples / ST &IEQT & qj:lﬁ THET B

86) CANCELLED

Which of following is the least count of leveling staff? /
frafafea & @ = dafin i $1 sreuaais a1 giar 82
1. 0.5 mm

2.0.5cm

3.5cm

4. 5 mm

Correct Answer :-

¢ 5mm

87) CANCELLED
Name the equipment which is used to measure the pavement surface condition in terms of unevenness index. /

e O @ 98 D1 91 ISR ], RIS SUANT St JaPT & B eqract & TURid Tag! a1
a1+ & fere faran smar 82

1. CBR apparatus / BICIEIR w

2. None of the above / 375 I ﬁé BEl

3. Ring and ball apparatus / 77 TS &Td m
4. Bump integrator / EL| E_Cﬁ'aa

Correct Answer :-

« Bump integrator / EL s’é IR

88) CANCELLED

As per IS 383-1970, the crushing value of an aggregate used to cement concrete pavement should not exceed
i

STITH 383-1970 F ATVR, AHe Hpic Feurd & g IuA fru oM 9t Jdhd &1 Jdgad I I
3f¥re T8 g1 TR ¢

1. 45%
2.35%
3. 10%

4.25%

Correct Answer :-



89 CANCELLED

The number of horizontal cross wires in a stadia diaphgramis ./
T RIS STmpTH # &t e ARl &1 wen gl
1. one / Udh

2. two /ﬁ

3. two / ?ﬁ

4. four /dR

5. four /IR

6. three / GG

7. three / T

Correct Answer :-

o three/ GG

« three / GG

90) CANCELLED

The maximum bending moment at “A” for beam shown in the given figure is given by /

fgu arv o A G e (7)) & ©&v A o AEEaH dhe 3ol Hraear 6

W kM




A rectangular plate 0.75m X 2 4m is immersed in a liquid of relative density of 0.85 with its
0.75m side horizontal and just at the water surface. If the plane of the plate makes an angle of

60° with the horizontal, then the pressure force on one side of the plateis  _ /
0.75m X 2.4m &7 U HOdER e, 0.85 & TIfae 99 arel &9 #, S8 0.75m
a15s aifafoid ¥ § 8F oa T 9dg W 5915 o1dr ¢ afG oI & da dfas &
60° T HIVT AT 6T &1, ol oic dl Teh TBs W g gliam|

1.7.8 kN

2.15.6 kN

3. 18.0kN

4.24.0 kN

Correct Answer :-
e 15.6 kN

92) The observed value of the standard penetration (V) at 10m depth of silty sand depositis 13. The
unit weight of the soil is 16 kN/m?. The N walue after correcting for the presence of fines will be:

/
FrEgad X9 et & 10#L 7RIS aF A ga (7SS Afage) (N) & AR 13
acifhd fFaT TRIT| TS FT SHS TR 16 kNm? §1 76 & G & 9ig N &7 Al
oot gIam:

1. 12

2.13

3.10

4. 16

Correct Answer :-

93) The development length L4’ of bars is calculated as: /
Tal (F) T A FFas Lo T 701 59 &9 & 7 S &

= EIUS
. Zde
1.
ls)
Ld =— 5 =
Thd
2.
fo,
Ld —
3
3. £
o
Ly = i =
4. Tbd

Correct Answer :-



94) Accordingto IS 800:2007, the limiting value of slendemess ratio A for a member subjected to

compressive load resulting from wind and earthquake forces is v

[SSOUWO??WWWMW?WWHW?H@HW
e & foT dear g A& HifET A el

1. 180
2.250
3.210

4. 150

Correct Answer :-
« 250

95) Ifthe whole circle bearing is 327 24, then the reduced bearing is ol
afe ot gea &1 R 327248, o FA TR gam AR el

1. N32°36'W

) N3632W

3 S3632°E

4 532736 E

Correct Answer :-

. N3236'W

96) The strength of a joint in a bolted connection is 620 kN The size of plate is 180 mm width and
20 mm thick Ifthe vield strength of material of plate as 230 N/mm? and partial safety factor as

1.1, then the efficiency of the joint is il

diee & I3 U FoRe H A5 £ aRd 620kN §1 Wie T HER 180mm st 3R
20mm FAET §1 T e & Gt 1 des T 250Nmm? § 3R 3RiE geam sR+
(nfdae Ay haex) 118 v fragar . B

1.90%

2. 63.67%

3.75.75%

4.65.75%

Correct Answer :-

o 75.75%



The coefficient of volume compressibility “m, has an unit of: /

alegd dNsd ‘m,” & AUNF I SHS fodol B! o

1. m/kN
2. kN/m

4, mIkN

Correct Answer :-

mikN

98) Delta(A)in cm. duty (D) in hectare/Cumec and base period (B) in days are related as: /
AT A Seer (A), FRIUFgAF A g1 (D) 3R T F g9 diftas B) e w9 A
A=364 5
D

D=8.64 —

B=864 D
A

3.

B=g64 2
4. D

Correct Answer :-

99) The ratio of 5% day BOD of the industry in kg/day and BOD contributed by each person in

kg/day is termed as o
foram/feet 21 3e@ier & 5° R &1 BOD gur feanfes & vde afdd ¢@rr vecd
BOD & 3/9rd FEerar ¢l

1. relative stability / qrufée Riid

2. population equivalent / STERSAT QFCITEF

3. total organic carbon / Pl Sifass Hra
4. oxygen equivalent / Sfifro W

Correct Answer :-

« population equivalent / STTERHAT W



A steel column (Ffy=250 N/mm?, fu=410 N/mm?, and fcd=200 N/mm?) of effective sectional area
6000 mm? will have strength equalto _ /

6000 mm’ YA JFAAe TRAT (3=t 835 dre T & Tao (fy=250 Nmm?,
fu=410 N/mm?, fed=200 N/mm?) T F#EH & =T gl

1. 1200 kN

2. 1500 kN

3. 2460 kN

4. 3000 kKN

Correct Answer :-

« 1200 kN



